


.In the given figure ABCD is a square and BD is diagonal and MH=2cm
where M is midpoint of AD . Then find the length of BH=?

e atv ™3 &, ABCD U& T § 3R 3HaT Us @07 BD £,

MH=2cm & ST M 3T AD &l AT fdeq § A9 BH &I oldls AT
7
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In the given figure , AF=FE then find the length of FG=?
e v R/ AAF=FE , § I &7 AT FAT 9w ?
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In the given figure, PT is a common tangent to three circles at point A,
B and C respectively. The radius of the small, medium and large circles is 4
cm, 6 cm and 9 cm. 04, 0, and O; are the centres of the three circles.
What is the value (in cm) of PC?
& 5 JHiA F, pTAIT ol W Al faeg3i FAM: A, BT (W

ALLY) F HAE W §| OIS, AL IUT Fad a3 gal i Fsar way
4 TF , 6 AT IR 9 FA & | 0,0, AUT 0; AT Fal & Few &l PC
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(c) 24V6 (d) 156



What is the area of the largest triangle
that can be fitted into a rectangle of
length ‘I’ units and width ‘w’ units?
dqrs ‘I s®I3 IR dlS’s ‘w’ SHIg dld
W I # fbe f&y o 9@ ard wed 99

o &1 da%a 7T 87
@) o) =2
LAw © 5 )
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A What is the ratio measure of the in-
radius, circum-radius and one of the ex-
radius of an equilateral triangle?

e g9 Brpe @ srafEsan, aRga—ean
c AR U qd—F3<a1 &1 IJUra AU AT 27

(a) 1:2:5 \b) 1:3:5
\/(62:2:3 a\a\nw“q( 1:1.44:2 S



If in a triangle ABC, . ’

> Sofy
‘ a b C
—_— S" 8-_: &"I C- Kthen what can be said about the

triangle?

C
. ' cosA cnsB cosC
G %:MB_ C qﬁwﬁﬁaABCﬁ a b
v} - K%aﬂ%lﬂﬁra?m%ﬁwaaaunﬂaﬁn%?
C (a) right angled triangle

'La.l'ﬂ'-_-_,{uy)f_)): (,ch k (b) Isosceles triangle

1 JUsrequilateral triangle
(d) nothing can be in&erred
Covford:




If the shaded area is one half the area of
triangle ABC and angle ABC is right
angle, then the length of line segment
AD is

afe sraifead @awd s ABC & &@3%d
mw%aﬁﬁwmcmﬁwﬁ.a’r

WG s AD @)




A circle of maximum possible size is cut
from a square sheet subsequently, a
square of maximum possible size is cut
from the resultant circle. What will be
area of final square?

Ud 9TeR e 9 JJfreddy 999 JTHR 6l
Ud g1 bIel Wrdl &, IR g 4 siferean
GAd ATHR &I U g7 HIer ordar e | 3ifaH

q T dABa AT B2
LJ (a) 75% of the original square
S I Q S-L Lkt 50% of the size of the originaﬁe\w

(c) 75% of the size of the circle
(d) 25% of the size of the original square




(X If AABC is a right angle triangle with

g angle A=90°and 2s=a+b + c, where a
2 > b > ¢ where rotation’s have their usual
-h meaning, then which one of the

Y ( following is correct?

S-¢ af¢ AABC & a#aiv e 2 o A =
90° 3R 2s=a+b+c ® e, 5&l a> b >
c W&l guiq &1 9= Ay =, at fF=fafaa

4 | B9 91 el e?
Q&b‘*()(——-ﬂ) (s-b) (s-c)>s(s-a) i@
1IX326(y @) (s-a) (s-c)>s(s-b)

Jm) \:Q (c) (s-a) (s-bK.s(s-c
L' (s-a) (s-b) s(s-c)=bc
4 0= B



The length of the common chord of two
intersecting circles circles is 24 cm. If
the diameters of the circles are 30 cm
and 26 cm, then the distance between
the center (in cm) is

al gfae8d gal & Swafrs Sfiar @1 |98
24 9 2| Ife g1 &1 @ 30 AW AR 26
Al 2, @ o5 @ 9 @1 & (@9 A4) 2

(a) 15 (b) 16

(c) 13 Ad) 14
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An arc of 30° in one circle is double an
arc in a second circle, the radius of

9
5
X Fﬂ{g%m %which is three times the radius of the

first. Then the angle subtended by the
}’c&” arc of the second circle at its centre is
Ud g H 30° &1 Ud 919 qU} 90 @ 9
©=5° &1 SH[AET ghar =, foras) s ggd g &
Proar & 9 g gt ) 99 R g9 B
Y gRT 39® d% U JdRd ST RIT =

a5’ (b) 6°

(c) 3° (d) 4°




The length of the common chord of two
circles of radii 30 cm and 40 cm whose
centers are S0 cm apart (in cm) is

30 4 3R 40 WA B=wr ard <1 gl B
SHAfIss Sffar @1 dqrz @ e $5 50 4
® g W B
(a) 36
)12




If P and Q are center of two circles with
radii 9 cm and 2 cm respectively,
where PQ = 17 cm, R is the center of
another circle of radius x cm which
touches each of the above two circles

externally. If ZPRQ = 90°then the value
of x is

Hﬁpaﬁ?QQﬁﬂ’raﬁ 2 9 fFar arad
a?qﬁa%a%r::é ogl PQ =17 I, R,
Broar x 9 ard s 379 99 BT d% © Wl
SWI <& gdl 4 4 9dd $I 9= Wy 9o
w3 Har 2 | Afe 99 x &1 99

(a) 7 cm (b) §cm
(c) 4 cm \Ldvz cm




The internal bisector of AABC from /A
cuts BC on D and cuts the circumcircle
at E, if DE = 6 cm, AC = 8 cm and AD =
10 cm then find the length of AB

AABC &1 JTdR® /A WHAfgHSied BC &l D
R Hledl 2 R IRgd & E W dledr e,
gf¢ DE = 6 ¥, AC = 8 |#l 3fik AD = 10

9 @ O AB_®] @dTs SITd PITWIY |
(3120 cm@ (b) 18 cm

(c) 15 cm d) 12 cm

A=l
b @




In triangle ABC, AQ, BP and CR are
medians. AB = 24 units and AC = 10

units. Perimeter of AABCis 60 units. If

G is the centroid of triangle, find the
length of AG

31 ABC #, AQ, BP 3R CR #IiftasV 2
AB = 24 313 MR AC = 10 IH13 @ |
st ABC &1 uR¥q 60 s&1% 21 Afe G
R fra & =% 2, @ AG A a8 1d

3—13 -

(] 8.6 units (b) 13.5 units
Q“)’BE: 3-6'“.- +(c) 4.9 units (d) 6.5 units
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In the figure given below, O is the
circumcenter of an acute-angled triangle
ABC. If ZBOC=130° and ZABC=60° ,

then find the value of ZABO + ZOAC

A & R APpfa #, 0 vE AT Fryw
ABC &1 URe— 2| Ife /BOC =130° 3R
/ABC =60° 2, d ZABO+/0AC &T HH

STd DI |

(a) 45° ) 65°
(c) 75° (d) 55°

C




In the figure given below, O is the
incenter of the triangle ABC. If
ZOBA =25° and ZOAC =40° . Find the
value of ZOCB=?

1 & 7S anpfa A, 0 Bngwr ABC &7 3fa:
&% & | 3R ZOBA = 25° 3R

Z/OAC =40° 2, ZOCB®I HIF STd B |

(a) 15° (b) 20°
U 25° (d) 30°



PA and PB are the tangents drawn to a
circle with centre O. If PA = 6 cm and
/APB =60° , then the length of the

chordﬂﬁ:fﬂ
PA 3R PB &% O dld (& 9d WX €l T3

Frsxaet e E afz PA = 6 af &k
P /APB = mﬂmﬁﬂwﬁ%{mﬁ%— _

arS (b) 1242




O is a point in the interior of AABC such
that OA = 12 cm, OC = 9 cm,
/AOB = /BOC = ZCOA and /860° . What
is the length (in cm) of OB?

AABC® JIRaX ¥4 O U UHT fdg @ f& OA
= 12 H4l, OC = 9 §AI, ZAOB = /BOC =

 /COA3RLE60°2 | OB 31 wiarg (A o)
T 27




G is the centroid of a triangle ABC,
A whose sides AB = 35 cm, BC = 12 cm,
and AC = 37 cm. The length of BG is

%’;,- (correct to one decimal place):

@S G Ua s ABC &1 o5 =, forad! qom
AB = 35 d#l, BC = 12 | 3k AC = 37
0 4941 2| BG 9 ddls (U6 T¥Mad @I dd

12 © ) R @
337 (a) 11.7 cm u»m

(c) 12.9 cm (d) 17.5 cm _
1132 IO 2 3% - - 3

3

=3 =IUR.. .. —
19.994. . .. EXT Y

3 2 m@ [9-5%+ - . 1S



In APQR, PQ = PR and S is a point on
QR such that Z/PSQ = 96° + ZQPS and
Z QPR = 132° . What is the measure of
Z PSR?

APQR #, PQ = PR 3iR S, QR WX & fdg
39 UPR & f& L PSQ = 96° + ZQPS 3R

Z/ QPR = 132° 2| £ PSR @ A9 fdad

R (a) 45° (b) 56°
54° (d) 52




In AABC, O is the point of intersection
of the bisectors of /B and ZA. If Z
BOC = 108° , then /BAO ="7?

AABC #, O, ZB 3R ZA & qHfgai®
&1 ufcreded fdg @1 afd £ BOC = 108°, @l
/ BAO =7

(a) 40° 18°

(c) 36° (d) 27°
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0= Q14 Ry~

In AABC, D is the mid-point of BC and
G is the centroid of triangle. If GD = 3
cm, AB = 8 cm and AC = 14 cm then
what is the length of the third side of
the AABC?

AABC #, HiGll BC &1 #eafdg D 2 3R fdg
G B &1 & 2| afe GD = 3 UHl, AB
= = 8 9 3X AC = 14 41 2, 99 AABC

&1 ) o H TS FAqT 8?
(a) 16 cm _Ab14 cm

(c) 18 cm (d) 12 cm
S B



In the below figure, a perpendicular CO
is drawn on the side AB of a triangle
ABC, If /ZBCO =65°and ZBAD = 25° then

find the value of (ZABC + ZADC)
A & 7$ arEfa A, @ Brgst ABC @1 o

B AB UX o4 CO STl T = | I
/ZBCO = 65° 3R /BAD =25°, dl
(£ZABC + ZADC) &1 |- =Td DI |

w\\ (a) 70° ~by'75°
- (c) 80° (d) 90°
10~ 300

B . /.
) AseoxzK K el



In a triangle ABC, the side BC is
extended up to D. Such that CD = AC. If

ZBAD = 109° and ZACB = 72° then

the value of ZABC is

39 ABC #, il BC &l D & 39 d¥e
fawarRa fear wimar 2 f& CD = AC afe £
BAD = 109° @1 ZACB = 72° @ ZABC
&1 AL RIT 27

35° (b) 45°
(c) 75° (d) 72°




The radii of two concentric circles are
12 cm and 6 cm. AB is the diameter of
the bigger circle & BD is a tangent to
the smaller circle touching it at D and
the bigger circle at E in such away that
it forms an angle of 90° at E with A.
Point A is joined to D. The length of AD

1S

gl gafea gal #1 Beaw 12 9 3R 6
9t €1 AB 98 931 &I &9 @ 30X BD Bic
gd &I Wl k@1 § ol 39 D U Wy Il
& 3IXY 98T 9< E WX 39 USR W &l @

f6 J28 A F U1 E U¥ 90° &HT HIVT §7dT 2 |
fdg A& D9 WIST OIfar 2 | AD @1 @4l @

(a) 4./5ecm (b) 12\/3 cm
o) 6/7 cm (d) 9 cm




If in a triangle ABC, BE and CF are two
medians perpendicular to each other
and If AB = 19 cm and AC = 22 cm then
the length of BC is

gfe st ABC #, BE 3iI¥ CF WY oH€dq

qritase @ 3iv afe AB = 19 4+ 3k AC =

22 4l ? d BC @ aHIg ?
(a) 26 cm 3 cm

ABL_‘,A&:__ Sg&_ (c) 20.5 cm (d) 19.5 cm

%+ \°\L: SR Cz|
Y344 3¢1= By



In the following figure, AD = 15 cm, AB
= 36 cm and AE = 18 cm, then AE is
what percent of AC?

fr=fafaa amefa o, AD = 15 91, AB = 36
4t 3k AE = 18 9l 8, @1 AE, AC &I




G is the centroid of a APQR . Medians

PA and RC of lengths 45 cm and 60 cm

respectively, intersect each other
perpendicularly. Find the length (in cm)
of PR.

G APQR &1 &<® = | HHI: 45 JH X 60
q9Hl ddrs @1 Hiftgdd PA 3R RC,
UH—quR &l dedd WU A ufaess axdl € |
PR &I wiqlg (A1 #) S1d $ifog |

(a) 60 (b) 45

(c) 40 50



.An obtuse angled triangle having ratio of
its sides are 4:5:7 & if inradius of the

X triangle is 26 cm. find the smallest
Un side of the triangle.
e Aftddi Brw fSaal qoRn &r
PN IFJUTd 4:5:7 © IR Afe Brger &1 sra-BHrea
- S=3% Zfﬁlﬂ‘élﬂiﬁ'ﬁﬁlaﬁmﬂﬁ’rgm

Té _?16 cm (b) 20 cm
Q ..:[87\7\‘\0\&%'700& (c) 12 cm (d) 28 ¢
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